[W4) KR

X2 Tsil FABBAN)
# s BRA 5,774
ER A& 509
ARYTA 3,213
iidi) 295
ZHET 1,833
=1L 3,389
RehA 823
% Pl 2,547
B L 107
=NINEINED] 1,024
=13t 253
EHE 326
FE—SKAT 640
REE 255
B8 = K1 Al 338
= 20,632
HWL—TH 396
FH LA 2,921
& ILFE T Al 447
7K 3& st B A 627
BREW—TH 576
Nt = TH 2,002
FEERE 2 4,490
INtRETH 3,411
INEERT B 3,043
INttETH 843
IR 8 /N AR A 2,921
RHAR_THE 4,258
WRAR=TH 3,471
RHAFR/NMERAOD 5,807
@ /NI 2,711
WA LT 1,154
e X 2,487
BB 445
75 3R F [ #h 165
#Em 474
1€ ZE R Mx 3,266
X SR AT 695
EHE 88
IE 36
NE -t &EHT 53
HNEFERE O 50
] FH 940
FREEQD 109
#FARIEM 96
AP 101
AT 1,153
KEBE 456
M By —ZHET 337
M B — FHET 338

20174 3R

(%)

100

3R BIRERE

90

80

70 -
60 -
50
40 -
30 -
20
10 -

0

75.4

(A)
3.0

FRE#R &

2.5

24

2.0
15
1.0
0.5
0.0

1.U

FRAERES

79%

#HRERAT~ BB KT

21%

I~ FRIRERAD

-1/2-




(DEI

=2 Awi1 FIRAEHAN)
AEFHEmY A 1,092
REeE ) 343
ANHFEHE 412
[LETHE 651
Et+EDE 382
iR T S AR A 1,448
FaFTET 408
¥R 409
h¥EF 385
REE=E 3,167
=B 14
= L s R Al 9
L RINERR] 8
i N 35
HE 14
& Z MFEAET 35
XK 13
FENE 37
= 12
REHFK 14
BAM 17
INRE 106
7R 3% ER BT 378

20174 3R

-2/2-



[W4]XKYE B

=8P FIRAEHA)
ERARTE 342
HEBEEERE 115
IR T Al 555
& — S AT 9
REE &
BB K I AT 20
=11 248
HFL—TH 50
FHILAFR 48
&L FE AT 22
7K it 5t B Al 27
REWL—TH 29
INt=TBH 32
FRERL VY —H 118
INtETH 181
INFATEB 108
INtETE 11
R 8RN R AR AT 94
RHEE_-TH 66
RHABR=TH 96
IRHFR/NERAD 151
BB N AT 57
WA ET 22
W E 36
iR 46
KEME 39
B — & HT 3
B — HHT 27
NEEY A 8
X 5 o 2% Ay 18
HNE+HE 12
JRiETAE 35
E+ETE 28
BB T = AT 46
78 Z BT 20
e 16
higF 4
EEET 140

20174 3R

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

61.6

(A)
35
3.0
25
2.0
15
1.0
0.5
0.0

FRE#R &

3.0

11

ERARAFE~RARTTE RAR=ZTE~NEHER

FRAERES

29%

71%

ERARTE~RAR_THE
WHAR=TB ~RNEFEER

-1/1-




